Sherington

3FT 2DRW FRAME

ltem No.: 6582766 Date:02-02-2008

1046mm




Please sort out all parts before you begin to assemble the item.
This to make sure you always use the correct par .
Fittings contained in the box.
A, 16 pcs. Cam - 215 x 12mm (B\ 16 pcs. Bolt - 6,5 x 33.5/11mm i/a'ﬁ 24 pcs. Dowel - @8 x 30mm £
5 — o 240 =
D R ks \
3)))) O / 230 =
= - = — — — 220
D 2pcs. Cam-@12 x 11mm r\E) 2 pcs. Bolt - 26,5 x 20/11mm QF:‘ 32 pes. Screw - 83,5 x 15mm —
: | 210 &
IS E) (&) | B
200 =
— : : : B R =
‘ (G) 38 pes. Screw - 03,5 x 30mm | (H) 12 pes. Bolt- 26 x 80mm ( | ) 10 pes. Bolt - 86 x 90mm | 190 &=
Femr | e co
)mﬁmﬁmmﬁmm‘ () m—)))))) D | 180 =
= s - C o L PR = =
J) 22 pes. Barrel Nut kj 8 pcs. Screw - 87 x 50mm '\ _) 1Pcs. Allen key - 4mm ' =
52 = | 160 £
y CERARIIMD % | 150-E
| M6,210 x 13mm ' =
A 140 =
M/ 2 pcs. Handle ( N/j 4 pcs. Bolt - 5/32 x 5/8" 2 pcs. Drawer runner 0 =]
' [ 130 =
450m (Side, left) ‘ =
i 120 =
! P 2 pcs. Drawer runner (Q) 2 pcs. Drawer runner R\ 2 pcs. Drawer runner 110 ::
ide, i 450m =
(Side,right) (Side, right) =
450% i \ 100 e
— 00+
Fittings A, B, C, D, E, F, G, H,l, J,K,L and N are shown in their actual dimensions. =
80
70
Hazard Warning ! =
. 60 +—
Keep small components out of the reach of children. E
80 4=
Tools needed. wE
30 £
PB4
10+
- 0 Ji

Page 2 of 14

3FT 2DRW FRAME




Wooden parts contained in the box.

@ Post,headboard @ Head-/footboard @ Rail,headboard

1 pcs.

883 x 92mm

883 x 518mm

980 x 58mm

@ Side, left

1 pcs.

1900 x 346mm

Drawer rail,right @

2 pcs.

1900 x 346mm

Drawer rai, left

2 pcs.
915 x54mm

912 x60mm
915 x54mm

Rail @ Drawer front @ Drawer side, left

2 pcs. 2 pcs.
866 x54mm
862 x214mm 450 x140mm
@ Drawer side,right Drawer bottom rail @ Drawer back
2 pcs. 2 pcs. | 2 pcs.
450 x140mm
434 x57mm 809 x140mm
@ Drawer bottom

820 x445mm

Page 3 of 14 3FT 2DRW FRAME



L Key diagram.

" 3FT 2DRW FRAME




1.Inserting the dowels to the head-/ footboard and the rail.

Insert the dowels "C"
into the holes
indicated on the head-
/ footboards "3" and
the headboard rail "4". ©

® Head-/footboard
2 pes.

@ Rail. headboard

1 pes.

;"-._Z.Mounting the posts to the footboard.

Press the foot posts "2"
onto the head-/ footboard
"3".and fix them using
the barrel nuts "J" and
the bolts "I".

@

Post,foot

Post,foot

‘m‘n‘m.m\\\\m:

@/0

4 pcs.

3FT 2DRW FRAME

Page 5 of 14



3.Mounting the rail in the headboard onto a post.

Press one of the headboard

post "1" onto the headboard @
rail "4",
Vi~ 1pes.  (Z)Rail headboard
Fix it using the barrel nuts '
"J" and the bolts "I".

/

® Post,headboar

1 pes.
=2
Eaitivent‘he headboard "3" as | 1 % |

Note the groove

Press the other headboard
posts "1" onto the headboard
rail "4",

Fix it using the barrel nuts
"J" and the bolts "I".

@ Post,headboard
1 pcs.

Turn around the headboard. ®

see fig.5.1

Fix the posts "1" to the
headboard "3" using the
barrel nuts "J" and the
bolts "I",

Page 6 of 14 ' 3FT 2DRW FRAME




6.Mounting the bolts to the sides.

Screw the bolts "B" into
the holes indicated on the
sides "5" and "6".

Insert the dowels "C" ! .

into the holes indicated Drawer rak;left

on the drawer rails "8" 2 pcs. ©
and "9". ‘

: Drawer rail,right
8 pcs. © < 2 pcs.

Page 7 of 14 - 3FT 2DRW FRAME




8.Mounting the drawer runners to the drawer rails.

Fix the drawer runners
"O" and "P" to the drawer
rails "8" and "9" into the
predrilled holes.

@ Drawer rail left
o [
20 pcs. ® ]

Place the screws into
@ the predrilled holes.
¥

Drawer rail left

Note: To fix the screws "F" in place
to make sure the drawers run smoothly @ #pes.

after assembled.
@ Drawer rail,right

Page 8 of 14 3FT 2DRW FRAME



9.Assembling the drawer rails to the rails.

Fix the drawer rails "8" and
"9" to the rails "10" using
screws "K" and the allen key
||LI‘-

Press the drawer rails "8"
onto the right side "5",

The drawer rails must
be placed exactly as shown.
See fig.10.1

Fix the drawer rails to the
side using the cams "A",

Place the cams "A" into the
holes indicated,arrows
pointing towards the side/bolt.

Tighten:
Turn the cam "A" clockwise.

11.Mounting the left side to the drawer rails.

Press the left side
"6" onto the drawer rails
|18|F arld llglr‘

The drawer rails must
be placed exactly as shown.
See fig.11.1

Fix the side to the
drawer rails using the
cams "A" into the
holes indicated.

@ Drawer rail right

Drawer rail left

@ Side, right

Fig.10.1

rawer rail,right

=

\
-

4 pcs. |H
Fig.11.1

Page 9 of 14 3FT 2DRW FRAME

|
\ }




12.Mounting the footboard to the sides.

Press the footboard onto the
side "5" and "6".

Fix it using the barrel nuts

Side, left

Press the headboard onto
both of the sides "5" and "6".

Fix it using the barrel nuts
"J" and the bolts "H".

Note: .
The side of drawer can be
decided by exchanging
headboard and footboard.

, mmmm @
@ ©) ‘

Page 10 of 14 _ 3FT 2DRW FRAME



%
| S
)
o
O
=
S |
L
w
D
=
-t
@)
afd
0p)]
et
0
w
D
M
-
(@)
g
X
LL
<
b

©

26 pcs.

&

Start spreading the slats

evenly in the bed frame.

Fix the slats "7" to the

slatholders on the sides

3FT 2DRW FRAME

Page 11 of 14

ot
[ T
s =
o @
= 3
mu a
~w -
=0 RS
o 2
z R =
[T =
SE T
S.,m 2
gr
g @
= i3]
= (= w




15.Mounting the bolts to the drawer fronts.

Screw the bolts "B" and "E"
into the holes indicated on
the drawer front "11".

Press the drawer sides "12"
13" and the drawer bottom
rail "14" onto the drawer front
u1 .1 "

Drawer side, left
2 pcs.

Place the cams "A" and "D"
into the holes indicated,
arrows pointing towards the
drawer front.

Tighten:

Turn the cam "A" clockwise.
2 pcs.

Drawer side,right

17.Sliding the drawer bottom into the drawer frame.

Slide the drawer bottom
"16" into the grooves of
the drawer frame.

Page 12 of 14 3FT 2DRW FRAME



Place the drawer back "15"
in between the drawer sides
"12" and *13"

Fix the drawer back using
screws "G" into the holes
indicated.

18.Mounting the drawer back to the drawer frame.

12 pcs. @:

Fix the handles "M" to the
drawer fronts "11" using
bolts "N".

Fix the drawer runners "Q"
and "R" onto the lower edge
of the drawer sides,using
screws "F".

Push the drawer runners up
against the backside of the
drawer front "11",

Note the placement of the
wheels.

Page 13 of 14

3FT 2DRW FRAME



21.Adding the drawers to the bed.

Side the drawers into
the bed frame.

Dear Customer.

Please note that the product you have purchased is a natural living timber.

Just like nature itself,wood varies in shape and colour.Knots,vein patterns,resin pockets
and colour differences contribute to giving the piece of furniture its beauty and form - a
natural part of solid wood.

Although the tree has been cut down and dried, it is still alive and therefore will react to
high and low temperatures, light,humidity,drought and time.

In cold and dry periods,the wood contracts which may lead to small cracks in the piece of
furniture. The reverse happens in warm and hunid periods where the wood expands and
this may result in slight unevenness.

The colour of the wood also changes with time, particulary if the furniture is placed in a
light place, This is natural process and part of owning a piece of furniture made of solid
wood.

Any flexing that has occurred during transport will re -correct it self once this product is
correctly assembled.

Tighten all joints of the furniture after six months.Please keep these instructions in a safe
place for future use.

N - Page 14 of 14 3FT 2DRW FRAME



SHERINGTON - 3FT 2DRW FRAME

Assembly Instructions - Please keep for future reference 658/2766

Width - 196.8cm
Depth - 99.2cm
Height -104.3cm

Important - Please read these instructions fully before starting assembly

If you need help or have damaged or missing parts,call the Customer Helpline:08456 400 800

Issue 1 - 10/24/13



/ Safety and Care Advice

Important - Please read these instructions fully before starting assembly

- Check you have all the * Do not stand or put weight on « We do not

components and tools listed on the product, this could cause recommend the

pages 2 and 3. damage. use of power

- Remove all fittings from the + Assemble the item as close to drill/drivers for

plastic bags and separate them its final position (in the same _ Inserting screws,

into their groups. room) as possible. as this could damage the unit.
Only use hand screwdrivers.

- Keep children and animals » Assemble on a soft level ) )

away from the work area, small surface to avoid damaging the » Dispose of all packaging

parts could choke if swallowed. unit or your floor. carefully and responsibly.

- Make sure you have enough - Parts of the assembly will be

space to layout the parts before easier with 2 people.

starting.

Glue safety - Take care when using glue, please follow the advice below

Skin contact: Remove Eye contact: Rinse immediately If swallowed:Seek medical
contamination by washing with with clean water for 15 minutes advice immediately.

soap and water. This procedure and seek medical advice.

should also be followed prior to

eating and drinking.

Care and maintenance

* Only clean using a damp cloth * From time to time check that * This product should not be
and mild detergent, do no use there are no loose screws on discarded with household waste.
bleach or abrasive cleaners. this unit. Take to your local authority

waste disposal centre.

Note: if required the next
page can be cut out and used
as reference throughout the
assembly. Keep this page with
these instructions for future
reference.




If you have damaged or missing componets,
Com pon ents - Pa n eIS 1 call the Customer Helpline:08456 400 800

Please check you have all the panels listed below

MA@J

|I| Headboard (104.3 x 99.2cm) |Z| Footboard (99.2 x 55.3cm)
O . . . . - . . . . . <0
[ 3] Support,slatholder left (190 x 34.6cm) [ 4] Drawer rail left x2 (915 x 5.7om)

El Drawer front x2 (86.2 x 21.1cm) @ Drawer side left x2 (45 x 14cm) Drawer side right x2 (45 x 14cm)

Drawer Back x2 E Drawer bottom x2 (82.8x 44.9cm) Support rail x2 (43.8x 5.7cm)
(81.7x 13.7cm)
Or= s s s s s s s s s s =0
[.
[11] Slat x13 (91x 6cm) [12] Support,slatholder right (190 x 34.6cm)

Drawer rail right x2 (91.5 x 5.7cm)



Components - Fittings

Please check you have all tlohe fittings listed below

Note: The quantities below are the correct amount to complete the assembiy. In some cases more fittings
may be supplied than are required.

Q -|||||||| il e Large locking - G @

=
Large locking pin x 8 nut x 8 = ; Large Wooden dowel x 8
. W S
0 @®3.5 x 15mm Screw e \\\\\”\\ @3.5x25mm G \w\\\\ @3.5x30mm
for Runner x 32 % Screw x 12 Screw x 26
450mm Runner m 450mm Runner o 450mm Runner

outside left x 2 outside right x 2 inside left x 2

450mm Runner
inside right x 2 @ D G R — ]

Small Wooden dowel x 8 ) )
Small locking pin x 10

ngll locking nut % Spanner x 1

®
g&ﬁ

® 6

Screw for handle
x 4

Large Locklng Pin x 4

Locking nuts x 4 @ Cap x 4

-

Connector x 4 Connector x 4

(<)

@@%@@

Tools required
Phillips screwdriver Small
Cj (medium & large) z:é hammer
Flatblade screwdriver
= (medium)

Ruler - Use this ruler to help correctly identify the screws

5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 145 150 155 160 165 170




Assembly Instructions

& Entire assembly will be
easier with 2 people.

a:Screw 2 Locking Pins ®
& 2 Bolts @ into the
Headboard[1].

Repeat above steps to the
Footboard [2].

b:Insert 4 Wooden
dowels @ and 4 Large
Locking Pins @) into the
Support,Slatholder [3].

Repeat above steps with
another Support
Slatholder [12].

c:Insert 2 Wooden dowels
@ into the Drawer rail Q

[4]-

Repeat above steps with
the other 3 Drawer rails

[4] and [13]. (K] [4] «2




Step 2

Fix the Runners @ and @®
onto the Drawer rail |z|
and @l using the Screws

® into the pre-drilled
holes.

Repeat the above steps to
the other 3 Drawer rails

[4] and [13.

Step 3

Press the Drawer rails

[4] and onto the
Support Slatholder [3].

Fix the Drawer rails to
the Support Saltholder
using the Locking nuts @
and screwdriver.

Note:

Place the Locking nuts
@ into the holes
indicated,arrows pointing
towards the Support
Slatholder,see picture
1,2.

Tighten:
Turn the Locking nuts

clockwise,see picture 3.

(@

/




Step 4

Repeat the above steps to
another Support
Slatholder [12].

Step 5

Press the Headboard [1]
onto the Support
Slatholder [3]and [12].

Fix the headboard using
the Connector ) and@®
and screwdriver, also
using the Locking nuts @
and @ and spanner (@,
cover the cap @@ -







Screw 5 Locking pins (B
into the holes indicated
on the Drawer front @ .

Press the Drawer side [6 ]
and the drawer
bottom rail [10] onto the
drawer front [5].

Fix it with the Locking
nuts ) and screwdriver.

Step 9

Slide the drawer bottom
[9] into the grooves of
the drawer frame.

Place the drawer back
between the Drawer side
[6]and fix it using
Screw e and
screwdriver.

Fix the drawer runners o
and 0 onto the lower
edge of the drawer sides
using Screw Q

Note the placement of the
wheels.




Step 10




